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Q1.  The yields of the concentration of   an acid have a standard deviation of 0.8. Find the sample size required to estimate the true mean of the yields of concentration so that the error of estimation will be within .05 with probability .95.

Q2. The manager registers the quantity of the oil consumed by the station for 14  days. He finds that the average quantity is 220 liters with standard deviation of 2.1 . Then:

a) Estimate the mean of the oil quantity consumed by the station daily.

b) Estimate the variance of the oil quantity consumed by the station daily.
c)  Find a 90% confidence interval for the mean of the oil quantity consumed by the station daily assuming that gas the oil quantity consumed by the station daily  is normally distributed.
d) What is the probability that the mean of the oil quantity consumed by the station daily belongs to the CI you obtained in part (c)?
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